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S0-02
June - Examination 2017
B. A. Pt. | Examination
Society in India

HRA H qHIST
Paper - SO-02

Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections. A, B and
C. Write answer as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥ 3R '’ i @uel H Wi 21 ud
Gus & MGATTAR AT & IR QIS

Section - A 10 X2=20
(Very Short Answer Questions)

Note: Answer all questions. Answer of each question should
be given in one word, one sentence or maximum upto 30
words. Each question carries 2 marks.

gug - ‘3’
(rfer Ty IR Ue)
fAder : oft el & SR AT 21T 1= TR BT Ve 9768, Ueh a1y AT

J1ferepad 30 grecl H uRATT HIfvTU| U T9 2 3t T ¢l
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1) Very short Answer Type Question.

3IfT oy ITRIY Y.
(i) Define Karma.
o DI gRAMT HIf|
(i) Give two characteristics of class.
ot fi 3 foevar R
(iii) Define caste.
STIfer 1 gy AR
(iv) Write name of Ashram.
s & AW IR |
(v) What is tribe? Define it.
ST T €2 39 aRTid Hifsry |
(vi) Define Globalisation.
dedftawur @ gRyIT HIfR|
(vii) Define Varna System.
quf egeeerT &l aRATT HIf|
(viii) What is Endogamy?
3rafdarg am 82
(ix) Write definition of social change.
HEITD gRad Bl g9 fTRau)
(x) Define family.
aRaR @ gl Hfr)
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(o7 ITRIT UeA)

fAder: =gl IR Ul & IR SRR MY 309 ITR DI 37feIhay

2)

200 oTeqf | R SRR Tdd T 10 3Dl o B
Discuss the Impact of western culture on Indian society.

UfeeH} HEPIcT BT TR FHAST TR YHMET i fodemT i |

Analysis the changing status of women in Indian society.

TRAT FHIST § AfReTT3 Bl geordt URAfT &1 fIeeisor Hifu)

Describe the characteristics of Indian society.

TRAT FHIST T fIAgaran a1 gufa Hifsu)

Discuss the problems of tribal society.

STSTICRT GHTST bt FERT3T i = HifdTu

How Globalization effect the Indian society? Explain it.

Jof AT TRATT FHIST T hd T9TAT PR XgT ¢ ? ST Ui |

Critically analysis the cultural lag theory.

ARpaD e RIgId &1 3Tetiemcnad fagemur Hifg|
Differentiate between Rural and Urban community.
Il & TRIY TR | 9E gared |

'Hindu marriage as a sacrament' Explain it.

ferg foare U enfifer WwpR @' vl |
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum upto 500 words. Each question carries
20 marks.
(Tvs - ¥)
(Sref ST T9d)

fAder : fh=gl <1 goi & IR IR | 3MUh! 3 TN D 37feIhad
500 9rsci # R BRI | T U9 20 37ept T gl

10) Describe the bases of traditional Hindu Social organization.

R fawg AT TG & SMERI Bl auf I

11) Critically analysis the process of sanskritisation.

P ICTEROT T TfhAT T AArIAIHD {ILeIToT DTy |

12) Highlight the factors that are responsible for changes in caste
system.

ST T ° gfad= o dTel BRI TR UH19T STford|

13) Write short note on :
o feaouft forRau:
(i) Modernization
31—"%
(i) Kinship

AR
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